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B B WEE H—ER 38 36 74 9.0 65.0 300
BB A0 = 38 37 75 9.0 66.0 200
<]iva *a 1B 40 40 80 12.6 67.4 150
Afs1 mil A 42 39 81 13.5 67.5 70
54z & FB 34 39 73 5.4 67.6 60
64z B F=a 44 40 84 16.2 67.8
74z WEH —X 40 41 81 11.7 69.3 50
8L e ER 46 44 90 20.7 69.3
9fz TR #WE 42 35 77 7.2 69.8
1041 hE & 38 37 75 4.5 70.5 50
114 WE % 41 38 79 8.1 70.9
1241 NE B 42 40 82 10.8 71.2
134 R BE 43 41 84 11.7 72.3
1441 gl KE 38 39 77 4.5 72.5
1541 A BXER 40 39 79 6.3 72.7
1641 =% BX 42 40 82 9.0 73.0
174 BAR =R 50 46 96 225 73.5
184 BH EX 47 45 92 18.0 74.0
1941 EXE IEH 51 51 102 27.9 74.1
201 AN X& 41 45 86 11.7 74.3 30
214 1A BEA 43 44 87 12.6 74.4
22431 = & 47 44 91 16.2 74.8
23{i1 EE  BA 41 42 83 8.1 74.9
24431 mikx %K 40 47 87 11.7 75.3
25431 iEme  ZBA 42 40 82 6.3 75.7
2613z MZE Z=RE 45 47 92 16.2 75.8
2741 BA =4 45 39 84 8.1 75.9
281{iz F OEX 48 40 88 11.7 76.3
29131 B\ R 44 45 89 12.6 76.4
301 I sk 41 40 81 4.5 76.5 30
3141 =R X 47 43 90 13.5 76.5
321 A W= 45 41 86 9.0 77.0
33 /N 44 43 87 9.9 77.1
344 ik BBA 42 45 87 9.9 77.1
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351 A0 EX 40 46 86 8.1 77.9

361 KB #H— 49 46 95 17.1 77.9

3741 FEH FiE 46 43 89 9.9 79.1

381 FRIR Al 48 51 99 19.8 79.2

394 W F 48 43 91 11.7 79.3

401 #im IEX 44 49 93 12.6 80.4 30
A1{s wk FH 51 58 109 26.1 82.9

BBE = N 49 45 94 9.9 84.1 60
4343 XS #HA 52 50 102 17.1 84.9
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